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Register No.

Gevhlemev (LLGHELMLD 4,6v0T(H / HIGHER SECONDARY - FIRST YEAR

PART - 1ll

&evofleofl gimlailwisv / COMPUTER SCIENCE

(SOID LOHMID Y MHISI6L QUL / Tamil & English Version)

[CHILD: 2.30 OGN | [ QLTSS LSIICLIGTISEI:
70]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

AMQYMISHET: (1) SM6UHGH NOBIMSESHEHD  FHULITEHEL  LHUTH 2 6TenG T
sTITLIGH6M6ETTE  SHILMISH SIS GC&meTeanan. F&LUUSON GmMMUIGLILINGT, Sienm
SEOISMEuTILILITOTHIL LD 2 L eoTiquwingg Q5fleNsseLd.

2 fHeowd  wOMID  BBUY eowulemer  WLLHGCL  ET(PSHIISNSLD,
3lg.6CHMg (HeusmHGLD LweTU(SHS Coucior(hLd. LL MG eumIeUsM@ CILI6sTH60
LweTU(h & & LD.

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

LNifley - | / SECTION - |
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GmILIL: (i) Slmargg allamssEhrsHGW allmLwefssa).

15 x 1 = 15
(iHQSTHSHSUULL BI6nE allsmLseaflev WS goyemLw allenL ullemeor
CeIHASEGHE. GMULGLT ailmLuillmerub CEI&HFI 6T(LpSHeLD.

Note: (i) All questions are compulsory.

(i) Choose the most suitable answer from the given four alternative and write the

option code and the corresponding answer.

1. @UeuLmd gemeopenm SeunuCurMiuiiev LweruG S (P&HUWE Fam)

6T60T60T?

(SN QUMM &EGLp6L (S)1q-TTeaTEIO VL[]
(@)62(HFRIGEMLD &M MISH6N (FF) HIGGITGI&ILIE0)
Which component is used in the Second generation computers?

(a)Vacuum tube (b)Transistor

(c)Integrated Circuits (d)Microprocessor

2.916576U(HLD 6THG GSMI(PEMMUITIEDL Unicode 69 (IhMRIKENTIISSLILIL (H6IT6ENS|?
(S)BCD (S)ASCII

(@)EBCDIC (FF) ISCII

Which one of the following coding system is integrated with Unicode?

(2)BCD (b)ASCII
(c)EBCDIC (d)ISCII
3.QUMT (& 816

a)CD ROM 1.4.7 GB
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b)DVD 2.50 GB

c)Flash [Bl663T6USLD 3. 700 MB

d)Blu ray disc 4.2TB
(3]) 3214 ())3142
(@)4123 (FF) 1234
Match the following

a)CD ROM 1.4.7 GB

b)DVD 2.50 GB

c)Flash memory 3.700 MB

d)Blu ray disc 4.2 TB
(a) 3214 (b) 3142
(c)4123 (d)1234

4. 196016 (HEUTRUMMIEN Linux GCHTLIL Sl6WLOLIL| 6T&?

(SINTFS (S))DAT

(@ CHIuUSTey (FF) EXT2
Which one of the following is the file system of Linux?

(a) NTFS (b)DAT
(c) Time sharing (d)EXT2

585G Q&MHSHSLUILLL IMMIET 618 Google 60 2 (HEUTHSLILILL G|?
(Si)Android TV (S))Android Auto

(@)Android wear (FF) Q606U IEM6uEGILD

Which of the following was developed by Google.
(a)Android TV (b)Android Auto
(c)Android wear (d)All the given

6. Windows 10-60 ¢Th& LIWNSGM Windows XP UN6D My Computer 62&&I6T6M&?
(SN)PC (Sh)My PC

(&) Computer (FF) This PC
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Which icon in Windows 10 is same as ‘My Computer’ in Windows XP?
(a) PC (b)My PC
(c)Computer (d)This PC

7. SeunUGUT SiemoLiflev 2 eam Ul (B QWISEGeneT LIMTeneUUIlL 6THS
uenNS@Mienw! &eMd Q&uwiul GCeuevor(hLb?
(&) Computer (S4)My Computer

(@)Drive icon (F) Device driver

Which icon is clicked to see disk drives mounted in the system
(a)Computer (b)My Computer

(c)Drive icon (d)Device driver

8.Windows-60 2_61T6IT Ms-Excel $@& 62&& Ubuntu -6)160 2_6TTerm GISMLMHlemev
LiwteorLIm(h 6T&)I?

() SIL_L66m6tnTd Q& Ie0) (910G o196 gL
(@)epLi6T gy.L560 BHMELS (FF) GrOLMJ &y.-L156/0 &MeL&
The default application in Ubuntu similar to MS-Excel in Windows is

(a)Spreadsheet (b)Libre Office suite
(c)Open Office calc (d)Star office calc

9.DSINBSHSHNVI&HE (LP6OT  i:=7 6T6vfleL |, i:=i*2 6T6aTLIFIL LOSIILT(HSHSHEVIHGLI

LNeoT  iug6dT LOKILIL| 6T60T60T?

()2 (Sh)7

(@)14 (IF) 49

If 1:=7 before the assignment, i:=i*2. The value of i after the assignment is
(a) 2 (b)7

(c)14 (d)49

10. LHUINBSHSNISGL UMIG 6uifl 1 LHMID 3 60 OTMIGET m WOMID  n-607
LOSILILG6IT UITEDI6?

1. m,n:=120,150
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2—mn=7?,7

3. m,n:= m+3, n-1

4, —m.n=7?,7
(Sl)123 LOMHMID 153 (Qh)123 LDMHMILD 149
(&)153 WOMID 119 (FF) 120 LOOMILD 150
What are the values of variables m and n after the assignments in linel and line3

1. mn:=120,150

2—mmn=7?,7?

3. m,n:= m+3, n-1

4, —m.n=717,?

(2)123 and 153 (b)123 and 149

(c)153 and 119 (d) 120 and 150

11.Q606uF cPeLS GMIPemMEII G& T (heTen CID6TCILIT(Hemens GMILILG)
(3]) source (&4,) Source code

(@) Open source (FF) Anytime source

Which refers to the software in which the source code is available for free
(a) source (b)Source code

(c)Open source (d) Anytime source

12.626UG6UM( GlenewT HiFmeL|d 15& elleurLl LigHlenevsEnL 6T eleulliLg)
(S (B RISM6TITS 56 ()N S GH60

(C) A (HEULDTESLD (FF) LOMISU6MIILIMIS S 6L

Expanding each sub-program into more detailed steps is known as
(a) Composition (b) Decomposition

(c)Abstraction (d)Refinement

1B.umiell UL§&lev SLGLUUTLMLS GN&HGLD Heorerd
(@S Fometl QUL g (b)Q&F6UEUBLD
(@)euLL LD (FF) Beimeul_ L Lb

A condition in a flowchart is represented by a shape like
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(a) Diamond (b)Rectangle
(c)Circle (d) Oval
14U Q&MTHSSLLLLITED, v:=u+3,v+3, 61601D @Sl6L 61% LOMME0?

(SH)u-v (Sh)uv
(@)U"‘V (FF) u/v

Given u,v:=u+3,v+3, which of the following is invariant?

(@) u-v (b)uv

(c)utv (d) uv

15.0L&@GL60T SiHs QML LW HM6OTHG CFWIeLLPHMD 6ig.6l

QBTLHILHIL_LID 6TFHI?

(SN)OL&G (S)OL5@G LOTMHMLOEO)
(@)MISLPMHE (FF) 62 (15 RIS 6m6u016 & 60
The algorithm design technique closely related to iteration but more powerful is

(a)lteration (b)loop invariant

(c) Recursion (d)composition

Nifley - 1/ SECTION - II

gCHMIL M alam&sEhsH©E allmLwel&Hsab. aummlev ailerm erevor
245G &Sevorig LTS allenL wefls s ea|Lb.

Answer any Six questions. Question No. 24 is compulsory. 6%x2
=12

16.0fleUTHSLD &(HS () BIOS (&4) ENIAC (@) RAM  (FF) ALU

Expand (2)BIOS (b)ENIAC  (c)RAM (d)ALU

17. A LDOMID Z 6T60TM GO BSHSEFHES ASCIl GOUILML S &([H5?
Give ASCII codes for the characters A and Z?

18.@MILIY 6U6MJGH-AND 6UMUTI6L

Write note on AND gate.
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19. GUI 6T60TMIT6L 6T6OT60T?

What is GUI?

20. Windows XP Ufl6L 2 6o @j6vor(h 6UEMSUITETT FMOMJRIGET WIT6DI6U?
What are the two types of windows available in Windows XP?

21. HubGenest WOMID FaMM) HPHUWUDMIGS QenL Gl 2 eren CeumiLImL_ L
6T(LDSIS.

Distinguish between a condition and a statement
22. Ubuntu-0160 QIGHML_&&LD 6T60TMIT6L 6T60T60T?
What is a Launcher in Ubuntu?
23.QFWeL(Wemm oM QFweoLT(h CaimiL(hdHsls.
Distinguish between an algorithm and a process.
24.0L %@ LMMHMLOES 6T6aTmITeL 6T60T601? 6T(HSHHSHHTL(H &(IHS.
(SI606VG))
LMIGLPHEH H&&H6L ey 616016 6T60T60? T(HHHSHHTL(H &([HS.
What is a loop invariant? Give example

(OR)

What is recursive problem solving? Give example

LNifley - 11 / SECTION - 1Nl

JgCHMIL M alaT&&EHsHE allmLWwel&Hsab. eummlev aflerm erevor

335 &SevorigLILmS allenL wefls s ea]Lb.
Answer any Six questions. Question No. 33 is compulsory. 6x3=18

25.QBML68 QFWeoUTL (R&aMe LigHlemeusener 61(LpSIs.
Write the sequence of steps in boot process?

26.@\evvTlq.601 HITLIML HEWIL MG () -22 () -35

Find 2’s complement of (a)-22(b)-35

27.0enG0 6ULIg60T GMILL| 6UMIS.
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28.Android QWSS SienLOLILNET GMILIL| 6U6MITS.

Write a note on Android Operating System.

29. switch user LOMMILD log off &@& QeMLGW 2 6maT GCeumILITL 6L 6T(LDSHIS.

Differentiate between switch user and log off.

30. b:=a+5 LDMMILD b=a+5 6T60IMN FaMMISEHHESG QenL Gl 2 6rem alGHUITFLD

6T60T60T?

What is the difference between the statement b:=a+5 and b=a+5

31.086MR&sUULL. @e(hy 6Teor&eled FMIL 6T6oT6m6u0T SH6voIL MUl 6U6MIFULED M

LOMID CQFWELUPEOMEMWI 6T(LGIS.

Write the specification and algorithm to find the minimum of two given numbers.

32. LTleoTeu(heUeTeUMMIET (S1,52,53,S4 &S5 Sh&lIenel FaDMISETTGLD)

1- - sLEUUTL (R Umlenel 6T(LpSIS.

2--ab
3851

4 case a=b
5 S2
6 case a>b
7 S2
8 else

9 S4
10 S5

QFHTL_&H&HSIL a=200 WOOMID b=30 6T6v1l6L SL(RLLUMER UTWD Fammibenern

6T(LPSYLD.

Given the following (S1,S2,S3,S4 &S5 are statements)

1 - - Write the control flow

2--ab
3S1

4 case a=b
5 S2

6 case a>b
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7

S2
8 else
9 S4
10 S5

Initially if a=200 and b=30, Write the statements through which the control flows.

33. gUYm aNsILrHSH &6l Lb @Qrao(h LMl eUTeT&HeT QHHSH6. (H 6UTEM6TS
Qaran(hy Ceugmenddler 19 Hemevsemem Gl lgeomed, LWeo(Hd 13 YHwl
HEMELGHET 2 (HEUMGLD. MEMTE eUmeNe VD 7 HEMEVSHEMET Gl6UL Lq.63TTED
22 UHW FHMEUKHET 2 (HUMGLD. MeNHG HMeLSHEHD  GleuL L LILILL TV
Geugmarld QmH&H eNBHW. CeousmatEHMEG 1000 HMELSHET 6T6ITIMITL i)
eTLGUMTE SIOILD? (GDOIUL HEmEL&H6Tle 6TauIemNHeand (LDMMENLD 3 6TETLIG)

([ LMMEOIWITGLD)

(SI6L6VGI)
(P&HL n QUIEL 6TEUIISEBSHBITET Fo(HHEMELS GGl MLl LOL &S

QFUIEL (LPEDHMEMUI 6)1G 6U6MLOSEELD.

King Vikramaditya has two magic swords. With one, he can cut off 19 heads of a dragon, but after that
the dragon grows 13 heads. With the other sword, he can cut off 7 heads, but 22 new heads grow. If all
heads are cut off, the dragon dies. If the dragon has originally 1000 heads, can it ever die? (Hint:The

number of heads mod 3 is invariant.)

(OR)
Design a iterative algorithm to find sum of first n natural numbers.

S=1+2+3+..... +n

Nifley - IV / SECTION - IV

AmarsHg allamssEhsH@Lw allmLweaflssea|wn
5x5 =25
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Answer all questions.
34.6(I15 SeutnefluNesT (PSHHUIL LGHSHM6T eUenTLL SHIL 601 eXNeufl.
(SI6060F))
SLp&eauLeumenm @bLD sTevewonms MMM NedT LHeoTTm) Hlemev 6TEHUICUUNTS
LOMMHMIS
(S1) 456 (3)) 855
Explain the basic components of a computer with a neat diagram.
(OR)
Convert the following to binary, then convert the binary number to hexadecimal
(a)456 (b)855
35. Bubbled AND LDMMILD Bubbled OR 6UMUNGL&GemET aleifl.

(S16L6VG))
(Sl) BlQ&MT COUBLD 6TEITMTEL 6T60T60T? MG 6TeUITM) SleTail(heum?
(3h) CIFMEL o616 6TETMITEL 61601631 2 (&) MDR 6T6OTMITEL 6T616DT1?

Explain Bubbled AND , Bubbled OR gates.
(OR)
(a)What is a clock speed? How it is measured? (b)What is a word size? (c)What is MDR?

36.5686568alq QIL1g60 CHMUIL WOHMID CHTLLEMMESENENT 6T6UEIMM)] HH6D

eT(huum ?

(SI6L6VGI)

5V

=) 61601 CHMmEUUTEL x-601 LG QSTEHSHSLLLLTEL Y-6mU

y:
LHUNGRS. FHlwmer QFWeLLPMD eUMIWIDHMENU 6T(LDSI.

How will you copy files and folders to removable disk?
(OR)

5V

Suppose you want to evaluate y for value of x using the expression y = T

Write suitable algorithm specification
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37. Factorial(3) &&IMedT CFWI6L(LPEMMUINGD €26 )Gl6UM(, Lilg [hl6160 &S T60T
QeueNuiL_emL_& sevorLm

Factorial(n)
- - - inputs: n is an integer, n20
- - - outputs: F=n!
Fi=1,1
While i<n
F,i:=F*, i+1
(SI6LEV))
a® SEUIL MW L &G SaMenm LIETLUGESS eusnilsnm mmILD
CFWIL(PEODMEDILI 6T(LDSHIS.

Trace the step by step execution of the algorithm for Factorial(3)

Factorial(n)

— — — inputs: n is an integer, n20
- - - outputs: F=n!

F,i:=1,1

While i<n

F,i:=F*i, i+1

(OR)

Write specification and algorithm using iterative statement to find a’.

38. DL &@ LmmMled umm elleurl.

(S16LEVG))

Sl(hs&Hement LeoTeu@BLOTM LMIGHOE (WDmMUTIEL QIEMTULIMIS S 60

1 ifn=0
a'= axan! if n is odd
a2y a? if n is even
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LOIFPHE QFWL UMW @hS eumTWMILEmUL LWeTURSSH (PSS, a'-

SENSHEIL 61§GHM6u CIL(HSHSHL&ET CHMULLGBEMGI. eUMTLILIL HGHIL 60T

Nend G 5.

Briefly discuss about loop invariant.

(OR)

Power can be defined recursively as

1 ifn=0
a'= axan! if n is odd
a™x a2 if n is even

Construct a recursive algorithm using this definition. How many multiplications are needed to calculate

a'%? Illustrate by a diagram.





